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A NEW QUALIFICATION FOR WORK, STUDY & LIFE

Q Solution Marks | Total | Comments
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F —t e B1F 2 or more floats seen
Al 3 All correct
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Total 11

Homework 9B - Solutions
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College
4. M1
11.69xﬁ
100
11.69 +their (0).51 M1 11.69X 0.044 (=0.514.. ) =M1
11.69x1.044=M2
£12.20 Al 3 12.21 0r 12.2=5C2 -2-
12.20p = A0
N——
Solution Marks | Total | Comments
Interest in first year is £3000 = 1.45% Oor
= £43.50
Amount at end of first year is £3043.50
Interest in second year is £3043.50 » Amount is 3000 * 1.0145°
1.45% M1
= £44.13
Amount at end of second year is
£3087.63
Final amount at end of third year is ) _ 5,
£3132.40 Al £3132.40
The interest is £132.40 Al 3 Do not accept £132 4
Total 3
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core:maths Homework 9B - Solutions

A NEW QUALIFICATION FOR WORK, STUDY & LIFE
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5) (a) Assume that each guest will have % to 2 drinks on average per hour.L/

1x4x100=200t02 x4 x 100 = 800 drinks L—" g3t Lelvren 260

(b) Assume each drink will cost between £1 to £3 on average.

w3 FEO

100 X £1 = £100t0 800 X £3 = £2300 L~  f oS Lecen t100 ad £2,200

(c) eglflassumed each drink was more expensive the cost would go up. If
assumed people would drink less then the cost would go down. (_—"

(a) Rounding errors B1
) | 142732x0.2458 M1
35083 or 35084 Al Integer 35100 (3 sf)
(c) Use of 11.62 M1 Or0.1162
2090
%100  (or 99.99) M1 oe
62
257000r better from 25731.497 AL
Or 25729 or 25728.924...
(d) No, with a reason B1
valid reason eg there may be fewer houscholds
= E1 oe

in Castle Morpeth than other areas.
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